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&S X 4 Er%;é; —Fﬁﬁ'ﬁﬁ‘(i)@ﬁﬁ%ﬁ 73(:;3:"%3 X 4 ﬁﬁﬁ%ﬁgﬂfw '(r%;? jj(giacnié X 4 ﬁf J:ﬁn*ab\(‘;)(])tl:‘.%‘ jj(lfifn%é X 4 J:ﬁﬁuﬁfJ‘(i)o)tt%_ ;.%3 jj(lfifn%é
7 100kN/m%#8%% | 1.00 | 000 ~ 355| 157.30 |3mEBzxB| 000 ~ 209| 3.93 21.02 | 100kN/m#Z#BZ% | 1.00 | 1061 ~ 6600 157.30 |3mZEHBZS| 30.00 ~ 66.00| 3.93 21.02
st 1.00 | 8656 ~ 1133 100.00 | =nLst | 209 ~ 11.33| 3.00 16.05 ThList 1.00 | 5.00 ~ 1061 100.00 | =nst | 5.00 ~ 3000 3.00 16.05
2 100kN/m%#8%% | 1.00 | 000 ~ 393| 164.19 |3m&EBzxB| 000 ~ 234|412 22.03 | 100kN/m#%#BZ2 % | 1.00 | 10.56 ~ 64.61 164.19 |3m%E#B2B| 2500 ~ 6461 4.12 22.03
L 1.00 | 593 ~ 1172 100.00 | =nLst | 284 ~ 11.72| 3.00 16.05 ThList 1.00 | 6.00 ~ 1056 100.00 | =nst | 6.00 ~ 2500 3.00 16.05
3 100kN/m%#8%2% | 1.00 | 000 ~ 399 16528 |3m&EBZB| 000 ~ 252|426 22.82 | 100kN/mi%#825 | .00 | 1080 ~ 5160 16528 |3m&EBZB| 2500 ~ 51.60| 4.26 22.82
ZhLst 1.00 | 599 ~ 1178 100.00 | =hst | 262 ~ 11.78| 3.00 16.05 zhLst 1.00 | 5.00 ~ 1080 100.00 | =05t | .00 ~ 2s5.00| 3.00 16.05
4 100kN/ Mm% %% | 1.00 | 000 ~ 369| 159.84 |3mE{BZ%| 000 ~ 221|401 21.46 | 100kN/mi#%#B25 | .00 | 1053 ~ 5180 159.84 |3m%E#BZB| 2500 ~ 51.80 | 4.01 21.46
s 1.00 | 369 ~ 1148 100.00 | =nLst | 221 ~ 1148 3.00 16.05 ThList 1.00 | 5.00 ~ 1053 100.00 | =nst | 6.00 ~ 2500 3.00 16.05
5 100kN/m%E#8x5 | 1.00 | 000 ~ 314 150.12 |3mZE#BZB| 000 ~ 1.03)| 3.46 1852 | 100kN/m%i#Bz25 | 1.00 | 1087 ~ 4600| 150.12 |3m&ERBZB| 20.00 ~ 46.00| 3.46 1862
st 1.00 | 314 ~ 1093 100.00 | TN | .03 ~ 1093] 3.00 16.05 ThList 1.00 | 6.00 ~ 1087 100.00 | ThLs | 5,00 ~ 4000 3.00 16.05
100kN/mM%E{BZ % ~ ImEHBRAD ~ 100kN/mM%#B % % ~ IMEBZD ~
ZhLst ~ zhst ~ ZhLst ~ Fnst ~
100kN/mM%#BZ % ~ ImEHBAD ~ 100kN/ M%#8Z % ~ ImERBAD ~
Thilst ~ zhLlst ~ Thsn ~ Zzhust ~
100kN/MZ#2 2 % ~ ImEHBAD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Thsn ~ zhst ~ Thsn ~ Zhust ~
100kN/M%#2Z % ~ ImEBAD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
Thsn ~ Thst ~ Thsn ~ ZzhLst ~
100kN/MZ#2Z % ~ ImEHBAD ~ 100kN/ M%#BZ % ~ 3mEEBZD ~
Thsn ~ Thst ~ Thsn ~ ZzhLst ~
100kN/ MZ#8Z % ~ 3mEHBAD ~ 100kN/ M%#BZ % ~ 3mEBZD ~
zhsn ~ zhst ~ Thsn ~ ZzhLst ~
100kN/MZ#2Z % ~ ImEHBAD ~ 100kN/ M%#BZ % ~ 3mEBZD ~
zhsn ~ Thst ~ Thsn ~ Zzhust ~
100kN/M%#2Z % ~ ImEBAD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
zhsn ~ Thst ~ Thsn ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBAD ~ 100kN/ M%Z#BZ % ~ 3mEEZD ~
Thsn ~ zhst ~ Thsn ~ ZhLst ~
100kN/MZ#2 2 % ~ ImEHBAD ~ 100kN/ M%#BZ % ~ 3mEEZ D ~
Zzhsn ~ Thst ~ Thsn ~ ZhLst ~




